DAY 55Dk DAY T E R

& BERTIL
2400
|
]v
\ M8 &2y 25

8-912

25
B
b H = 200
H = 300
H = 400
H = 500
t=23t

HEEDEALBIERRETT

B BE E(W) | BB (k) [BROTH (| BAEAEH

Z-WD-3020 | 300 | 5290 | 1K 69,000

we | Z-WD-4020 | 400 | 6240 | 1K 81,000

%1 Z-WD-4030 | 400 | 7190 | 1K 93,500

M8x20 1200 § | ZWD-5020 | 500 | 71.90 | 1% 93,500
> 47| Z-WD-5030 | 500 | 8150 | 1k 106,000

A | Z-WD-5040 | 500 | 9100 | 1K 118,300

° v | Z-WD-6020 | 600 | 8150 | 1A 106,000

ar F | z-wp-6030 | 600 | 9100 | 1A 118,300
| z-wo-eos0 | 600 | 10010 | 1= 130,100

Z-WD-6050 | 600 | 11050 | 1% 144,000

BE HR(W) | BB (ke) | ARETELAT| 1A

K-WD-3020 | 300 | 5279 | 1& 68,600

| k-wp-4020 | 400 | 6248 | 1%k 81,200

= [ k-wp-g030 | 400 | 7176 | 1A 93,300

M [ kwos20 | 500 | 7176 | 14 93,300

,ﬁ K-WD-5030 | 500 | 8134 | 1& 105,700

% K-WD-5040 | 500 | 9182 | 1& 120,000

BRAT x @m o B 4 [ KWD6020 | 600 | 8134 | 1% 105,700
7 - B4T AT AL K-WD-6030 | 600 | 9082 | 1& 118,100
K-WD-6040 | 600 | 99.90 | 1& 130,000

K- 547 i B SR R K-WD-6050 | 600 | 11028 | 1& 143,400

*ARERIL, BIREGEAAILL YRS BRETT, (P175 EFEBNI0)

~127- #-TECHNO




DAY 55Dk DAY T E R

& NEALEFT I
BE (W) | B E(ke) |BRST B iz | AT HE{THE
Z-WLD-3020 | 300 | 3300 | 1A 36,000
A | z-wLD-4020 | 400 | 3600 | 14 43,000
B | z-wip-4030 | 400 | 4200 | 1K 49,000
B | z-wiLD-5020 | 500 | 4200 | 14 49,000
8 [ z-wLp-5030 | 500 | 4700 | 1% 56,000
A [ Zowip-s040 | 500 | 5300 | 14 63,000
= ;F Z-WLD-6020 | 600 | 4700 | 1XK 56,000
gy | ZWLD-6030 | 600 | 5300 | 1A 63,000
Z-WLD-6040 | 600 | 5800 | 1& 70,000
g Z-WLD-6050 | 600 | 6400 | 1A 77,000
° H = 200 BE 1EW) | B E ke |Ros il m R
- : z 288 K-WLD-3020 | 600 | 3290 | 1A 36,000
= H = 500 | k-wLp-4020 | 300 | 3590 | 1= 43,000
= [ K-wiD-4030 | 400 | 4190 | 1% 49,000
125 200 w fg K-WLD-5020 | 400 | 4190 | 1&k 49,000
o |_KWLD-5030 | 500 | 4650 14 56,000
g7 | KWLD-5040 | 500 | 5285 | 1% 63,000
4 [_KWLD-6020 | 500 | 4690 | 1% 56,000
K-WLD-6030 | 600 | 5290 | 1A 63,000
K-WLD-6040 | 600 | 57.90 | 1A 70,000
K-WLD-6050 | 600 | 6385 | 1A 77,000

& TES YK

BE (W) | B E(ke) |HRST B iz | AT HE{MHE
Z-WTD-3020 | 300 | 3900 | 14 39,000
& | z-wTp-4020 | 400 | 4300 | 1= 51,000
@l [ z-wTp-4030 | 400 | 5000 | 1= 58,000
g Z-WTD-5020 | 500 | 5000 | 14 58,000
o[ z-wTD-5030 | 500 | 5600 | 1& 67,000
H = 200 )( Z-WTD-5040 | 500 | 6400 | 14 75,000
: - 288 ; Z-WTD-6020 | 600 | 5600 | 14 67,000
- | H=500 g | ZWID-6030 | 600 | 6400 | 1% 75,000
Z-WTD-6040 | 600 | 6900 | 14 84,000
Z-WTD-6050 | 600 | 7700 | 14 92,000
BE (W) | B E(ke) |HRST Bz | AR HE{THE
K-WTD-3020 | 600 | 3890 | 14 39,000
K-WTD-4020 | 300 | 4290 | 1& 51,000
B [ k-wTD-4030 | 400 | 4990 | 1% 58,000
M | k-wTb-s020 | 400 | 4990 | 1% 58,000
125 300 w 300 125 ﬁ K-WTD-5030 | 500 | 5590 | 14 67,000
I SWTo-s040 | 500 | 6385 14 75,000
i K-WTD-6020 | 500 | 5590 | 14 67,000
R K-WTD-6030 | 600 | 6390 | 14 75,000
K-WTD-6040 | 600 | 6390 | 14 84,000
K-WTD-6050 | 600 | 7685 | 14 92,000

~128- #-TECHNO




JANYL G HR DA XYL T E IR

=+ =+
S EREREE SEMREREE
(200H) (300H)
2t W+2 12-12x20
2t W+2 8-012x20 |_| |_
. v %
I i \—— g | =) emi b | o O
|| o) miip | o o5 <
SE oot i S
M10x20 = 2 o
M10x20 S
A B -
g} (-8 o o
& || o) (-1} o O
N
25| 50 |25
100 25| 50 |25
AIRATAR IR F ok S8 AARATEARILR-F ok 124085 100
=+ =+
S EREREE SEMREREE
(400H) (500H)
2t W+2 16-012x20
2t W2 12-012x20 I |
I | L 1. \ =
g B \ < H -1[) (]l‘ ] [ R
gt (B 0o 0
S
° =
= d R
H-om) (o5 o o
o
d || miip | o o118 ol g
o <«
o
M10x20 = g-{f and) (mo || B o o
[Te)
d-|| om || B o o-— M10x20 =
N
|| ) (SN o o
25| 50 |25 N
100
25| 50 |25
e e 100
ARAEERILL-F vk 1285 ARALEERILL-F vk 16805
BE TE(W) | BAE (ke) |BRST HA (L | AEHE MRS BE T&(W) | BAE (ke) |BRST HA L | A HE MRS
Z-WJB-3020 | 300 | 1.20 1= 4,170 K-WJB-3020 | 300 | 1.10 1 3,790
& | z-wJB-4020 | 400 | 140 1A 5240 | _ | K-WJB-4020 | 400 | 130 1A 4,760
B | z-wi-4030 | 400 | 180 1A 5,940 ﬁﬁ'E']r K-WJB-4030 | 400 | 1.60 1A 5,400
% Z-WJB-5020 | 500 | 1.60 1A 5830 | o | KWJB5020 | 500 | 140 1A 5,300
f’(‘“ Z-WJB-5030 | 500 | 2.10 1A 7150 | gy | K-WJB-5030 | 500 | 180 1A 6,500
o | ZWB-5040 | 500 | 240 1A 5830 | g7 | K-WJB-5040 | 500 | 210 1A 5,300
4 | ZWJB-6020 | 600 | 180 1= 6490 | 4 | K-WJB-6020 | 600 | 160 1 5,900
41| Z-WJB-6030 | 600 | 220 1= 7.810 K-WJB-6030 | 600 | 1.90 1 7,100
Z-WJB-6040 | 600 | 250 1= 9,130 K-WJB-6040 | 600 | 220 1 8,300
Z-WJB-6050 | 600 | 2.80 1= 10,450 K-WJB-6050 | 600 | 250 1 9,500

WIE  BEE. SYOORAD LI, BREREN L TIMING 750 Dy b TR FF TS,

~129- #-TECHNO




